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MATH 332 X 24
Quiz V 7 e 22
November 1, 1988 Nams v
1. Complete the following DEFinition: The vectors vy, ..., v, are lineariy
independent i7 and only if
2.Find a basis Tor the soiution space of the fol @wing sgstem of
homogeneous equations. The solution space (s an dimensional
subspace of ~ N QA
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3. what is the rank of b Xs gm | I
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4. Consider the foliowing matix:
1 z 7 & -1 2 0
o 0 1 g 3 0 2
g ¢ 0 2 3 2
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7

a. The row space is an _2._ dimensional subspace of &
g%,,

1 fior
b. The column space i an 2 dimensional subspace of S

73
c, The rank 18 e .

5.00 the vectors (1.2,3), (1.1,2), and (2.0,2) form a basis for R%? Justify.
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8. Give 2 basis for the subspace of symmetric matrices in Mgy, What is th

dimension of this subs; zaf:;ef wWhat is the dimension of Mas?
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